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1. The accumulation of external debt is a common phenomenon of developing
countries at the stage of economic developiment where the supply of domestic savings
is low and current account payments defieits are high. Please discuss the pros and
cons of employing the fixed exchange rate system in this situation. {15 %)
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6. Boih tha lifc-cyele hypothesis and the permanent income hypothesis predict that the
marginal propensily Lo consume out of transitory income s quite small. However,

we observe many younger families spending z fairly large percentage of their
transitory incomes. I8 this observation consistent with the two hypotheses? (10
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